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1) Write the following expression i@%; 85 _2. 85 B baEa
2) Write the following expression in exponential form:
EIEY Yy - y’e
3) Simplify the expression: @ab" _l SGS b o
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5) Simplify: (r‘y@ (x‘y:‘)o @w X lzy 1223
= ey L | -
6) Rewrite the expression using a positive exponent: 573 5 >

7) The state of Colorado covers about 1.04 x 105 square miles. The Indian Ocean
covers about 2. 808 x 107 square miles. How many times bigger than Colorado is the
Indian Ocean? (erte your answer in scientific notatlon and standard form.)

2.90% k(o
1. o )1 10° 2-\7 X ‘O and QQ
Y4 x 10”7
8) Write the number in scientific notation: 0.000 000 24 2 X
dec = u.ge@ ~
9) Write the number in scientific notation: SQBO,QOO,QOO, 5~03 e
) Write th ber in standard form: 9.3 X 10-"? 61°2
10 rite the numberins L) A
300, 600
G,3,00000 1,900,
75 0.00000%8

11) Write the number in standard form: 8 X 10

0-0000%% .
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12
) Compare the numbers below using an inequality symbol to place in theD
Hxl0™S >ax 0™ (7 x107°) (3>] (0.000 009) ‘
0.00007 7 0.000009 0. 00007 %10~

13) Cal.culate the product: (m X 106)(@ 0'0::;,4 (59152 112\5

(Your answer must be in scientific notation. l--——-'

2- @ -7
14) Calculate the quotient: 2[10: 2.5 PO)'C' t0(0 & 2.5 ('O—g
R B, 2l e =2k

(Your answer must be in scientific notation.)

»

15) The population in 2017 in Brazil is approximated to be 2.1 x 10-gwhlle the

population in Mexic®is approximated to be 130,000,000. Calculate the approximate
total population for the two countries. (Write your answer in scientific notation and
standard form.)

210006000 ana 13 x 10€
Braz.l Mecico

tourism industry. To try to save the beachf 2.7 X 103 tubic yards of sand were ‘
imported to try to save the beach. If each cubic yard weighs approximately 3 x
103 pounds, about how many pounds of sand were deposited?

(,}xw)) (2;1)“0 ) S’.IXIO“’

17) State whether each sentence below is true or false. ]usnfy your reasoning for each.

16) The beach on Waikiki Beach in Hawaii is %\vhich is devastating to the
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